<u>Tikrit Journal of Engineering Sciences (2022) 29 (1): 60-82</u> <u>http://doi.org/10.25130/tjes.29.1.06</u>





College of Engineering

ISSN: 1813-162X (Print); 2312-7589 (Online)

Tikrit Journal of Engineering Sciences

available online at: http://www.tj-es.com



Experimental Database on pullout bond performance of steel fiber embedded in ultrahigh-strength concrete

<u>Shagea Alqawzai¹, Bo Yang¹, Belal Alsubari²¹, Hayder Saadoon</u> <u>Abdulaali³, M. Elchalakani⁴, Ahmed Al-Nini⁵</u>

1School of Civil Engineering, Chongqing University, Chongqing 400045, China, 2Department of Civil Engineering, Faculty of Engineering, Miami College of Henan University, Kaifeng, Henan, China, 3 Department of Architecture, Faculty of Engineering and Built Environment, Universiti Kebangsaan Malaysia, Bangi, Selangor, Malaysia, 4School of Civil, Environmental and Mining Engineering, The University of Western Australia, Crewley, WA 6009, Australia, 5 Civil and Environmental Engineering Department, Universiti Teknologi Petronas, Bandar Seri Iskandar 32610, Malaysia

Keywords:

Bond Strength; Embedded Length; Pullout Strength; Steel Fibers; Volume Fraction; Ultra-High Performance Concrete

ARTICLE INFO

Article history: Received Accepted Available online

13 Nov. 2021 13 Mar. 2022 25 June. 2022

©2022 COLLEGE OF ENGINEERING, TIKRIT UNIVERSITY. THIS IS AN OPEN ACCESS ARTICLE UNDER THE CC BY LICENSE http://creativecommons.org/licenses/by/4.0/

Citation: Alqawzai S, *Yang* B, *Alsubari* B, *Abdulaali HS, Elchalakani* M, *Al-Nini A*. Experimental Database on pullout bond performance of steel fiber embedded in ultra-high-strength concrete. Tikrit Journal of Engineering Sciences 2022; 29(1): 60- 82. http://doi.org/10.25130/tjes.29.1.06

ABSTRACT

The bond strength between the steel fiber and the ultra-high performance concrete (UHPC) matrix plays a significant role in improving the behavior of plain UHPC. This paper compiles the existing experimental research database on the pullout bond performance of steel fibers embedded in UHPC. The variations of key parameters in the database are the steel fiber type and geometry, fiber volume fractions, and fiber embedded length. The effects of these parameters are analyzed and discussed in detail. Based on the analysis of the results, it was found that the deformed steel fibers, i.e., the hooked-end, half-hooked-end, and twisted steel fibers clearly provided higher average bond strengths than that straight fibers. The average pullout bond strength was obtained by increasing of fiber volume fraction in the UHPC matrix up to 2% (11.21MPa) with an increment of 20.4%. When the steel fiber volume fractions increase beyond 2%, the average bond strength decreases. Additionally, it was also found that using smaller embedded lengths in deformed steel fibers could result in the improvement of bond strength. This could be due to the fact that the bond is controlled by the mechanical anchorage of the end-hook rather than the physio-chemical bond in the straight portion. Conversely, increasing the embedded length of steel fiber could greatly contribute to the enhancement of pullout resistance resulting in increased bond strength between the UHPC matrix and steel fibers.

¹ Corresponding Author: <u>belalalsubari@gmail.com</u>, Department of Civil Engineering, Faculty of Engineering, Miami College of Henan University, Kaifeng, Henan, China.

1.0 Introduction

Many structures, such as nuclear power plants and industrial plants, are expected to be subjected to exposure to high temperatures because of their nature of operation [1]. Special structures such as nuclear power plants, high-rise buildings, and military protective structures are subjected to security problems of being exposed to a potentially high risk of terrorist attacks or accidental impact loads [2]. Additionally, some structures, such as tunnels and high-rise buildings, can be accidentally exposed to thermal danger that threatens the safety of people and causes severe property damage. Other structures, such as military structures, have a high potential for exposure to terrorist attacks or higher impact loads [1]. Therefore, this motivated the need for special concrete materials for these impact- and blastresistant constructions in both civil and military sectors [3, 4]. Ultra-high performance fiber reinforced concrete (UHP) has been introduced as one of the most promising materials to be used in the construction of special security structures. Reactive powder concrete (RPC) was first developed by Richard and Cheyrezy [5] in the mid-1990s and is a precursor of ultra-highperformance concrete ((UHPC), recently available in several countries in Europe, North America, and Asia [6–9].

Ultra-high-performance concrete (UHPC) is a special type of concrete having very high strength, and it is composed of fine particles with diameters of less than 0.5 mm without coarse aggregate. The American Concrete Institute (ACI) committee 239 [7] described ultra-high-performance concrete (UHPC) as concrete that has a minimum compressive strength of 150 *MPa* and meets specified durability, tensile ductility, and toughness requirements. It is a new class of materials typically characterized by the high content of cementitious materials (800-1200 kg/ m^3), and a water-to-cementitious material (W/CM) ratio of 0.20 ± 0.02 [10]. But in recent years, researchers have succeeded in reducing the cement dosage by using supplementary cementitious materials like fly ash, silica fume, ground furnace slag, etc. [11-13] to partially replace cement. Properly designed ultra-high performance concrete (UHPC) can deliver high flowability with self-consolidation, high strength and toughness, superior durability, and selfhealing ability [14, 15]. The high strength of UHPC is generally achieved thru combining small aggregate sizes (less than 0.6-mm in diameter) with a cementitious matrix augmented with ultra-fine particles and pozzolanic admixtures. However, the extreme brittleness of the plain UHPC matrix results in a weakening of the resisting tensile stress and very low tensile strength [16–18]. Therefore, fiber reinforcement is necessary for any practical structural application.

To develop a better-performing UHP-FRC, several types of macro steel fibers, e.g., hooked-end (H-fiber), twisted (T-fibers), half-hooked (HH-fiber), and crimped (Cfiber), have been developed worldwide [19-23], as illustrated in Fig.1. Fibers play an important role in compensating for the deficiency and improving the performance of concrete because the high bonding of steel fiber with the matrix is very effective in controlling the micro-cracking mechanism, providing an improved resistance in terms of smaller crack openings at peak load [24]. Besides, using steel fiber in concrete increases the wet and dry densities of concrete. Because the density of steel fiber is more than the density of concrete [25]. The inclusion of steel fibers to the UHPC matrix significantly improves its tensile strength,

post-cracking ductility, energy absorption capacity, and toughness. Steel fibers are capable of controlling crack opening and propagation by crossing their paths with the help of transferring applied stress between the fibers and the matrix through the interfacial bond [26, 27]. In addition to the fiber content, the individual pullout behavior of the activated fibers crossing a crack is also a significantly influential factor that affects the performances of UHPFRC composites. Therefore, the improved performance of UHPC is not only associated with the total amount of fibers but also the bond relationship between the individual fiber and the matrix. The fiber/matrix bond behavior is commonly assessed using the fiber pullout test.





Fiber pullout tests are adopted to investigate the steel fiber anchorage mechanism in a concrete matrix. The specimens used for pullout tests are generally characterized by a matrix form with discontinuities that run thru the whole transverse section. The two parts of the specimen are joined by one or more steel fibers. The test condition consists of fixing one end and applying the load to the other end so that the two-part can be separated, while the applied load and separation are recorded during the test process. However, in the case of only one-half of the specimen being used, the end of the fiber is left free, while the other end is pulled. The most commonly used specimens include dogbone, half-dog-bone, prismatic, cubic, and cylindrical. Each type of specimen has a particular grip system. For instance, dogbone specimens are fixed with rigid clamps designed with a special shape so that they can be coupled to the enlarged ends [28–30]. In the case of half-bone specimens, one end is fixed with the same type of rigid clamp, and on the other end, the fiber is pressed with a plane clamp, applying lateral pressure [31, 32]. Prismatic specimens are held with parallel faces clamps [33]. Cubic and cylindrical specimens are held with rings [34–37]. Some researchers used adhesives to fix the specimen body to the load system [38, 39]. This system has the advantage of avoiding lateral stresses that can distort pullout responses [34].

In the past few decades, extensive experimental programs have been conducted to evaluate the steel fiber pullout strength behavior of NC and HSC [40, 41]. Different physical parameters such as fiber geometry, orientation, tensile strength, embedded length, and mortar strength have been evaluated to clarify their effect on the pullout bond strength of the concrete matrix [37, 42-44]. With the growing application of UHPC in modern construction, several experimental, analytical, and numerical studies have been devoted to simulating the pullout performance of various kinds of fibers focusing on the mechanism of bond strength between the steel fibers and the UHPC matrix. However, none of these studies provide an extensive evaluation that covers a wide range of influential parameters on the pullout bond strength of steel fibers from UHPC. Therefore, it is essential to compile the available experimental data on the pullout bond strength of steel fibers embedded in UHPC from the literature. This information can be used to understand the effect of fibers type, volume fractions, and embedded length on

the pullout strength of the UHPC matrix by covering a wide range of parameters.

2.0 Experimental Research on Pullout Behavior of Steel Fibers in UHPC 2.1 Variation of Parameters in Database

This section evaluates the distribution of key parameters affecting the pullout performance of steel fibers embedded in ultra-high performance concrete (UHC) over the database. The steel fiber types that have been utilized in the database include straight fibers, hooked-end fibers, twisted fibers, and half hooked-end fibers denoted as S-fiber, Hfibers, T-fibers, and HH-fibers. Different dimensions of steel fibers have been used, including fibers with lengths (l_f) of 13, 19.5, 25, 25.4, 26.2, 30, and 60 mm, and diameters (d_f) of 0.2, 0.3, 0.35, 0.375, 0.38, 0.4, 0.5, and 0.9 mm. Different aspect ratios (l_f/d_f) of steel fibers have also been adopted, including 50°, 60, 62.5, 65, 66.7, 71.4, 79, 80, 97.5, 100, and 125. In addition, different fiber volume fractions (V_f) have been added to the UHPC matrix available in the database (i.e. 1, 2, 3, 4, and 7%). Besides, the effect of fiber embedded length (l_e) (i.e. 5, 6, 6.5, 9.75, 10, 15, and 20) has been evaluated, with the most frequently used embed length in the database being 10mm. Furthermore, the influence of various inclination angles (θ) (i.e. 0° , 10° , 15°, 20°, 30°, 40°, 45°, and 60°) has been investigated in the database. Fiber spacing (S) (i.e. 1, 1.2, 1.9, 2.3, 2.7, and 3.3 mm) was considered in the database. Moreover, the effect of a wide range of loading rates on the pullout behavior of steel fibers embedded in UHPC has been assessed along with two types of test configuration (i.e. single and multiple fiber pullout tests.

2.2 Development of a Database

As shown in Table 1, the database developed for this study approximately contains more than 150 tests of UHPC specimens with various shapes and different types of fibers, collected from numerous studies [45-56], which have covered the bond properties of a fiber pullout test. D-Y. Yoo et. al. [45] examined the mechanical properties pullout behavior of ultra-highand performance fiber-reinforced cementitious composites (UHPFRCC). Four different volume fractions (V_f) of 1, 2, 3, and 4 were utilized. They reported that the addition of steel fibers can provide better performance in terms of average and equivalent bond strengths and pullout energy. Y-S. Tai et. al. also evaluated the mechanical [46] performance of high-performance steel fibers embedded in UHPC at varied pullout speeds. Five different types of steel fiber were used, including straight, smooth steel fibers (2 types), hooked steel fibers, and twisted steel fibers (2 types). Five rates ranging from quasi-static (0.018 mm/s) to impact rates (1800 mm/s) were used for pullout tests. The authors explored the influence of a reduced amount of glass powder (GP) on pullout behavior. Based on the findings, they indicated that the pullout behavior of all types of steel fibers shows a progressive increase in rate sensitivity concerning increasing the pullout speed and shows a significant increase during the impact loading where it was most prominent in the smooth and twisted steel fibers and least in the hooked fibers. In addition, M. Xu et. al. [47] examined the impact of loading rate on the pullout response of single fibers embedded in PC. Four high-strength steel fiber types including straight smooth brasscoated with a diameter of 0.2 mm and 0.38 mm, half hooked-end with a diameter of 0.38 mm, and twisted steel fibers with an equivalent diameter of 0.3 mm were utilized. The influence of fiber embedded angles on the loading rate sensitivity of steel fiber pullout behavior is investigated. Three fiber embedment angles, 0°, 20°, and 45°, are considered. The loading was applied in rates ranging from 0.025 mm/s (quasi-static) to 25 mm/s (seismic). Based on the results, they found that half hooked-end steel fibers showed the highest loading rate sensitivity of all other steel fibers. They also reported that there is a correlation between fiber embedment angle and loading rate sensitivity of steel fiber pullout behavior. In another study, D-Y. Yoo. et. al. [48] again evaluated the influence of steel fiber type on the fiber pullout behavior of highperformance fiber-reinforced cementitious composites (HPFRCC). Two types of steel fibers including straight and hooked-end steel fibers were utilized with three different matrix strengths. The authors reported that

the hooked-end fibers exhibited higher bond strengths and pullout work than the straight fibers, but at large slips, they showed less shear stress at the interface than their counterparts. They indicated that straight steel fibers were more effective in improving the pullout performance with the matrix strength than hooked-end steel fibers. M. Roy. et. al. [49] experimentally studied the impact of steel fiber volume fraction (V_f) and orientation on the pullout performance of steel reinforcement bars embedded in UHPC. High-strength steel fibers having a diameter of 0.2 mm and a length of 13 mm with a corresponding aspect ratio of 65 and a slightly deformed mid-section were utilized. Four values of (V_f) including 0, 1, 2, and 3% were added to the concrete matrix. They reported that UHPC with steel fibers oriented perpendicular to the direction of load showed the highest pullout load while UHPC with steel fibers oriented parallel to the direction of load provided the lowest pullout load. However, the randomly oriented steel fibers gave values of the pullout load in between the parallel and perpendicular oriented steel fibers with respect to the direction of the load. Y.Y.Y Cao and Q.L. Yu [50] evaluated the pullout behavior of hooked-end steel fibers from the UHPC matrix. Various inclination angles were used taking into consideration steel fibers' dimension and embedded length. They found that the smaller diameter hooked-end steel fibers provided a higher performance where it showed the best performance under a pullout inclination angle of 0°. Chun B. and D-Y. Yoo [51] also studied the influence of hybrid macro and micro steel fibers on the pullout and tensile performance of UHPC. In their study, five different contents of the macro steel fibers with the micro steel fiber were utilized including 0, 0.5, 1.0, 1.5, and 2.0%. The authors observed that the average bond

strength and normalized pullout energy of the macro straight steel fibers embedded in the UHPC matrix were enhanced after their replacement with microfibers. On the contrary, those of the hooked-end and twisted macro steel fibers were reduced in accordance with the replacement ratio. It was also indicated that replacement of the macro fibers with the microfibers in the hooked and twisted fiber resulted in lower fiber efficiency ratios, while similar efficiency ratios were shown in the case of the macro straight steel fibers. J. Qi et al. [52] carried out a systematic evaluation of the pullout behavior of straight and hooked-end steel fibers embedded in UHPC using a single fiber pullout test. In their research, three types of steel fibers including straight fiber and hooked-end fibers (2 types), were aligned with respect to the loading direction at various inclination angles of 0°, 30°, and 45°. They reported that the straight steel fiber enhanced the average bond strength when the fiber embedded angle increased from o° to 30° and 45° followed by hooked-end fibers. They also found that hooked-end fibers with a smaller diameter could be a better choice for structural applications. J-J. Kim and D-Y. Yoo [53] examined the influence of steel fiber shape and distance between fibers on the pullout performance of steel fibers embedded in the UHPC matrix. They utilized three different types of steel fibers including straight, hooked-end, and twisted with distances between fibers of 1%, 2%, and 7% values of V_f as well as single fiber and bundle fibers. The authors reported that the twisted steel fiber gave the greatest pullout resistance, followed by the hookedend and straight steel fibers. They also found that using multiple steel fibers resulted in lower bond strength as compared to single fiber with neglecting the effect of fiber type and distance between fibers. In a recent

study, D-Y. Yoo et. al. [54] examined the influence of steel fiber type on the pullout tensile behavior of and ultra-highperformance fiber-reinforced concrete (UHPFRC) where, four different types of steel fiber including straight, twisted, hooked-end, and half hooked-end, were adopted along with various fiber inclination angles ranging from 0° to 60°. They indicated that better pullout performance was attained in the deformed (twisted, hooked-end, and half hooked-end) steel fibers in comparison to that of the straight steel fiber. They observed that inclined steel fiber at 30° or 45° provided the highest bond strengths of all steel fiber types. They also noticed that the hooked-end steel fibers attained the highest bond strengths at all inclination angles, while the twisted and half-hooked steel fibers exhibited the highest pullout energies at aligned and highly inclined (45° and 60°) conditions, respectively. In another research, D-Y. Yoo and S. Kim [55] investigated the pullout performance of various types of steel fibers embedded in UHPC under static and impact loading conditions. Four types of steel fibers include straight, hooked-end, twisted, and half hooked-end. Three different loading rates were applied by static and impact pullout test machines. To evaluate the impact of inclination angle on the pullout response, four inclination angles of 0°, 30°, 45°, and 60° were utilized. They reported that the hooked-end and twisted steel fibers provided the highest average bond strength for static and impact loads, respectively, while the straight steel fibers provided the lowest bond strength at all inclination angles. They also found that half-hooked fibers were very effective when they were inclined, with maximum effectiveness at an inclination angle of 45° as compared to straight and highly deformed steel fibers. They also mentioned that using the twisted and half hooked-end steel fibers was more effective in static pullout energies than the hooked and straight steel fibers. More recently, H. Zhang et. al. [56] studied the effects of fiber shape and curing conditions on the pullout behavior of steel fibers from the UHPC matrix, prepared with Granite powder (GP) completely replaced by quartz powder (QP) by a single-fiber pullout test. Five types of steel fibers including straight fiber, single and double hooked-end steel fibers, corrugated steel (2 types) are utilized. They investigated the influence of three curing conditions including standard curing (SC), warm water curing (WWC), and autoclaved curing (AC) on the pullout behavior of steel fibers from the prepared UHPC matrix. They found that the replacement of QP by GP can enhance the pullout performance of both straight and smooth steel fiber. They also indicated that using WWC and AC curing conditions enhanced the peak pullout load, the average bond strength, the pullout energy, and the fiber utilization rate of the S fiber and most deformed fibers in comparison with SC conditions. But, as the brittleness of failure by fiber fracture also increases. Besides. deformed fibers demonstrated superior pullout performance, as compared to the straight steel fibers. However, the excessively deformed fibers such as the more corrugated fiber with dense waves tend to fracture when the cement matrix is cured under WWC and AC.

3.0 Results and Discussion 3.1 Evaluation Parameter

In order to assess the effect of fiber type and geometry, fiber volume fraction (V_f) , embedded length (l_e) , and inclination angle (θ) on the interfacial bond behavior, the average bond strength (τ_{av}) is utilized. Assuming that the bond strength is constant along the entire fiber embedded length, the average bond strength is described as the interfacial shear stress when the pullout load reaches its maximum value. It can be determined using the expression in Eq. (1), given by [57]:

$$\tau_{av} = \frac{P_{Max}}{\pi d_f L_e}$$

in which, d_f is the steel fiber diameter, and L_e is the initial embedded length of steel fiber.

(1)

3.2 Effects of Steel Fiber Types and Geometry.

Fig.2 shows the effect of various types of steel fibers including the straight, twisted, hooked-end, and half-hooked-end fibers. It can be observed from Fig. 2a that the twisted fiber exhibited the highest pullout performance, followed by hooked-end and straight fibers, respectively, which is consistent with the findings from Wille and Naaman [43]. Therefore, it could be found that the mechanical anchorage of the commercial hooked fiber is excessive in the plain UHPC matrix attributing to its very high strength and brittleness. Comparing the bond strength behavior between SH-fiber $(d_f = 0.38 mm)$, and S-fiber $(d_f = 0.2 mm)$, as shown in Fig. 2b suggests that a decrease in diameter increases the bond strength of straight steel fibers embedded in the ultrahigh-strength matrix. On the contrary, it was observed that the effects of aligned steel fiber types on average bond strength can be ordered as H-fiber >T-fiber > HH-fiber > Sfiber, as can be seen from Fig. 2c-2d. The bond strength of the H-fiber slightly increased slightly because the exterior end hooks had bent in the opposite direction. The H- fibers could be pulled out from the UHPC matrix after complete bending of the plastic hinge at the end hooks, resulting in a great

improvement in average bond strength in comparison with that of the S-fiber [58]. During pullout, untwisting T-fibers cause local pressure on the matrix, which can crush it or cause radial or longitudinal micro splitting along the fiber length [46]. The Tfiber can also generate additional pullout resistance by twisting torque due to pretwisting along the fiber length and its quadrangular cross-sectional shape. The twisting torque causes local pressure at the interface between the fiber and concrete matrix, leading to the formation and disperse of micro-splitting cracks in the surrounding matrix. These splitting cracks usually initiate at the fiber exit and continuously spread toward the fiber end. It can be seen from Fig. 1d that specimens with hooked-end fibers with a smaller diameter attained the highest bond strength as compared to their counterparts of larger diameter (EH-30-II), which also shows a low bond strength as compared to the specimen with straight fiber (S-30). Thus, smaller diameter hooked-end steel fibers could be a better choice for structural applications. Overall, it can be demonstrated that the deformed steel fibers clearly provided higher average bond strengths than straight fibers. This could be attributed to the impact of mechanical anchorage obtained at the end hook for the hooked and half-hooked fibers and throughout the entire embedment length by torsion in the case of twisted fiber.



Fig. 2. Average Bond Strength (τ_{av}) versus Steel Fiber Types



Fig. 3. Average Bond Strength (τ_{av}) versus Aspect Ratio (l_f/d_f) [46, 47, 61]

The effect of aspect ratio (l_f/d_f) on the average bond strength is shown in Fig. 3. It can be seen that using steel fibers with a smaller aspect ratio provides higher bond strength between the steel fiber and UHPC matrix. This could be attributed to the strong bond provided by steel fiber of large diameter.

3.3 Effect of Steel Fibers Volume Fraction

It can be seen from Fig. 4 that the average bond strength increases with increasing the volume fraction of fibers. As compared with the 1% volume fraction of straight, hooked, and twisted steel fibers, a volume fraction of 2% showed an increase in bond strength of specimens. The highest pullout bond strength was obtained from the inclusion of a 7% steel fibers volume fraction in the UHPC matrix. Therefore, it is evident that the inclusion of a higher volume fraction can provide better pullout performance in terms of bond strength. This could be due to the multiple discontinuous steel fibers provided by a higher volume fraction of steel fibers, which can provide multiple bridges in the cracked sections of UHPC, contributing to the improvement of steel transfer and enhancement of average pullout bond strengths of steel fibers from UHPC matrix. However, an average pullout bond strength of 11.21 MPa was obtained by increasing of fiber volume fraction in the UHPC matrix up to 2%. When the steel fiber volume fractions increase beyond 2%, the average bond strength decreases to 10.8 and 8.68 MPa at volume concentrations of 3% and 7%, as can be seen in Fig.4. This could be attributed to the creation of voids fraction and lower composite shrinkage of higher fiber volume fraction, which leads to a reduction in radial confinement pressure of the composites [59].



Fig. 4. Average Bond Strength (τ_{av}) versus Steel Fiber Volume Fraction (V_f) .



3.4 Effects of Embedded Length

Fig. 5. Average Bond Strength (τ_{av}) versus Steel Fiber Embedded length (L_e) for Hooked-end

steel fibers [50]

The embedded length (L_e) of steel fibers is an essential factor that influences the overall pullout behavior of the steel fiber embedded in UHPC. It was demonstrated that increasing the embedded length of steel fiber could greatly contribute to the enhancement of pullout resistance resulting in increased bond strength between the UHPC matrix and steel fibers. It was also found that since straight steel fibers are initially in chemical adherence with the surrounding UHPC matrix, hence using an increased embedded length in straight steel fibers could increase the contact surface area with the UHPC matrix. However, this cannot be applied in the case of deformed steel fibers such as twisted (T-fiber) hooked-end (Hfiber) steel fibers. This could be due to the fact that the bond is controlled by the mechanical anchorage of the end-hook rather than the physio-chemical bond in a straight portion [1]. Therefore, using a shorter embedded length in hook-type steel fibers could result in higher bond strength, as shown in Fig. 5.

4.0 Conclusion

In this study, an experimental database is gathered from literature in order to investigate the influence of fiber type, volume fraction, and embedded length on the fiber pullout strength from the UHPC matrix. Four different steel fiber types including straight, twisted, hooked-end, and half hooked-end fibers were used in various literature of databases along with fiber volume fractions of 1, 2, 3, 4, and 7%. Based on the analysis of these key parameters available in the collected research database, the following conclusions are drawn:

- a) It was found that the effects of aligned steel fiber types on average bond strength can be ordered as H-fiber > Tfiber > HH-fiber > S-fiber. The H-fibers could be pulled out of the UHPC matrix after complete bending of the plastic hinge at the end hooks, resulting in a great improvement in average bond strength in comparison with that of the S-fiber. Besides, the T-fiber can generate additional pullout resistance by twisting torque due to pre-twisting along the fiber length and its quadrangular crosssectional shape.
- b) It was observed that a decrease in diameter increases the bond strength of straight steel fibers embedded in the ultra-high-strength matrix. Thus, hooked-end fibers with a smaller diameter could be a better choice for structural applications.
- c) Using smaller embedded lengths in

deformed steel fibers could result in an improvement in bond strength. This could be due to the fact that the bond is controlled by the mechanical anchorage of the end-hook rather than the physiochemical bond in the straight portion. Conversely, increasing the embedded length of steel fiber could greatly contribute to the enhancement of pullout resistance, resulting in increased bond strength between the UHPC matrix and steel fibers.

d) The average pullout bond strengths were found to be enhanced with the increase in fiber volume fraction in the UHPC matrix up to 2% and decreased with increasing the fiber volume fraction beyond 2%. This could be attributed to the creation of a void fraction and lower composite shrinkage of a higher fiber volume fraction, which leads to a reduction in the radial confinement pressure of the UHPC composites.

Overall, it is demonstrated that the deformed steel fibers clearly provide higher average bond strengths than straight fibers.

References

- Y.Y.Y. Cao, Q.L. Yu, H.J.H. Brouwers, W. Chen. (2019). Predicting the rate effects on hooked-end fiber pullout performance from Ultra-High Performance Concrete (UHPC). Cement and Concrete Research, 120: 164–175.
- [2] Isla G R F, B L R, Giaccio G. (2018). Steel fibers pull-out after exposure to high temperatures and its contribution to the residual mechanical behavior of high strength concrete. Construction and Building Materials 163, 571–585.
- [3] D.Y. Yoo, S.T. Kang, Y.S. Yoo (2016).

Enhancing the flexural performance of ultra-high-performance concrete using long steel fibers, Composites Structure, 147: 220–230.

- [4] R. Yu (2015). Development of Sustainable Protective Ultra-High Performance Fibre Reinforced Concrete (UHPFRC)-Design, Assessment and Modeling. PhD thesis. Eindhoven University of Technology. Eindhoven, the Netherlands.
- P. Richard, M. Cheyrezy. (1995).
 Composition of Reactive Powder Concretes. Cement and Concrete Research, 25 (7):1501–1511.
- [6] FGC. (2013) Ultra High Performance Fibre-reinforced Concretes. Interim Recommendations, AFGC publication, Bagneux, France.
- [7] ACI Committee 239. (2012). Ultrahigh Performance Concrete, ACI Fall Convention, Toronto, Ontario, Canada.
- [8] KCI-M-12-003. (2012. Design Recommendations for Ultra-High Performance Concrete K UHPC. Korea Concrete Institute (KCI).
- [9] JSCE. (2004), Recommendations for Design and Construction of Ultra-High Strength Fiber Reinforced Concrete Structures (Draft). Japan Society of Civil Engineers, Tokyo, Japan.
- P. Richard, M. Cheyrezy. (1994).
 Reactive Powder Concretes with High Ductility and 200-800 Mpa Compressive Strength. ACI Material Journal, 144 (3): 507–518.
- [11] I. Ferdosian, A. Camões, M. Ribeiro.
 (2017). High-volume fly Ash Paste for Developing Ultra-High Performance Concrete (UHPC). Ciência & Tecnologia dos Materiais, 29 (1): 157– 161.
- [12] C. Pfeifer, B. Moeser, C. Weber, J.

Stark. (2010). Investigations of the pozzolanic reaction of silica fume in Ultra-high Performance Concrete (UHPC). in: International RILEM Conference on Material Science, RILEM Publications SARL, 287–298.

- P. Aghdasi, C.P. Ostertag. (2018).
 Green Ultra-High Performance fiber-Reinforced Concrete (G-UHP-FRC).
 Construction Building Material, 190: 246-254.
- [14] F. De Larrard, T. Sedran. (1994). Optimization of ultra-highperformance concrete by the use of a packing model. Cement and Concrete Research, 24 (6): 997–1009.
- [15] M. Cherezy, V. Maret, L. Frouin.
 (1995). Microstructural analysis of RPC (Reactive Powder Concrete), 25
 (7): 1491–1500
- [16] W.G. Li, Z.Y. Huang, T.Y. Zu, C.J. Shi. (2016). Influence of Nano-Limestone on The Hydration, Mechanical Strength, And Autogenous Shrinkage of Ultrahigh-Performance Concrete. Journal of Material in Civil Engineering, 28 (1): 04015068.
- [17] Y.L. Li, W.G. Li, D.H. Deng, K.J. Wang, W.H. Duan. (2018). Reinforcement Effects of Polyvinyl Alcohol and Polypropylene fibers on flexural Behaviors of Sulfoaluminate Cement Matrices. Cement and concrete composites, 88: 139–149.
- [18] Z. Wu, C. Shi, K.H. Khayat. (2018). Multi-Scale Investigation of Microstructure, fiber Pullout Behavior, And Mechanical Properties of Ultra-High Performance Concrete with Nano-Caco3 Particles. Cement and concrete composite, 86: 255–265.
- [19] Z. Wu, K.H. Khayat, C. Shi. (2018).How do fiber shape and matrix composition affect fiber pullout

behavior and flexural properties of UHPC?, Cement Concrete Composites, 90: 193–201.

- [20] [10] D.Y. Yoo, S.T. Kang, Y.S. Yoon. (2014). Effect of fiber length and placement method on flexural behavior, tension-softening curve, and fiber distribution characteristics of UHPFRC. Construction Building Material, 64: 67–81.
- [21] A.E. Naaman. (2003). Engineered steel fibers with optimal properties for reinforcement of cement composites. Journal of Advance Concrete Technology, 1 (3): 241–252.
- [22] Wille K, Naaman AE. (2012). Pullout behavior of high-strength steel fibers embedded in ultra-high-performance concrete. ACI Material Journal, 109(4): 479–87.
- [23] Feng J, Sun W W, Wang X M, Shi X Y.
 (2014) Mechanical analyses of hooked fiber pullout performance in ultrahigh-performance concrete. Construction Building Material, 69:403–10.
- [24] [13] Hamid H. Hussein, Saeed K.
 Rejeb, Hayder T. Abd. (2014). Effect of Hybrid Fibers on the Mechanical Properties of High Strength Concrete. Tikrit Journal of Engineering Sciences, 21(1): 42-52
- [25] Mazin B. Abdul-Rahman, Alya'a A. Ali Amenah M. Younus. (2018). Effecting of Steel Fibers and Fly Ash on the Properties of Concrete. Tikrit Journal of Engineering Sciences, 25 (4): 30-36J.
- [26] Qi, Z.J. Ma, J. Wang. (2017). Shear Strength of UHPFRC Beams: Mesoscale fiber-Matrix Discrete Model. Journal of Structural Engineering, 143 (4): 04016209.
- [27] J. Qi, J. Wang, Z.J. Ma. (2018).

Flexural Response of High-Strength Steel-Ultra-High Performance fiber Reinforced Concrete Beams Based on a Mesoscale Constitutive Model: Experiment and Theory. Structural Concrete, 19 (3): 719–734.

- [28] 17] G. Giaccio, A. Giovambattista, R. Zerbino. (1986). Concrete Reinforced with Collated Steel Fibers: Influence of Separation. ACI Journal, 83 (2): 232– 235.
- [29] N. Banthia, J.F. Trottier. (1991). Deformed Steel fiber Cementitious Matrix Bond Under Impact. Cement and Concrete Research, 21 (1): 158– 168.
- [30] [19] Y. Lee, S.T. Kang, J.K. Kim.
 (2010). Pullout Behavior of Inclined Steel fiber in an Ultra-High Strength Cementitious Matrix. Construction Building Material, 24 (1): 2030–2041.
- [31] J.M. Alwan, A.E. Naaman, P. Guerrero.
 (1999). Effect of Mechanical Clamping on The Pull-Out Response of Hooked Steel Fibers Embedded in Cementitious Matrices. Concrete Science and Engineering, 1:15–25.
- [32] P. Guerrero, A.E. Naaman. (2000).
 Effect of Mortar fineness and Adhesive Agents on Pullout Response of Steel Fibers. ACI Material Journal, 97 (1): 12-20.
- [33] M.J. Shannag, R. Brincker, W. Hansen (1997). Pullout Behavior of Steel Fibers From Cement-Based Composites. Cement and Concrete Research, 27 (6): 925–936.
- [34] 23] I. Markovich, J. Van Mier, J.
 Walraven. (2001). Single Fiber Pullout from Hybrid fiber Reinforced Concrete. HERON 46 (3): 191–200.
- [35] V.M. Cunha. (2010). Steel Fiber Reinforced Self-Compacting Concrete. (Ph.D. thesis), University of Minho,
- 71

Minho.

- [36] 25] M. Tuyan, H. Yazici. (2012). Pullout Behavior of Single Steel Fiber from SIFCON matrix. Construction Building Material, 35: 571–577.
- [37] T. Soetens, A. Van Gysel, S. Matthys, L. Taerwe. (2013). A Semi-Analytical Model to Predict the Pull-Out Behaviour of Inclined Hooked-End Steel Fibers. Construction Building Material, 43: 253–265.
- [38] C.K.Y. Leung, Y. Geng. (1995). Effect of Lateral Stresses On fiber Debonding/Pull-Out. Composites engineering 5 (10–11):1331–1348.
- [39] [28] P. Robins, S. Austin, P. Jones.
 (2002). Pull-Out Behaviour of Hooked Steel Fibers, Structural Material, 35: 434-442.
- [40] Wille K, Naaman AE. (2010). Bond Stress-Slip Behavior of Steel Fibers Embedded in Ultra-High Performance Concrete. Proceedings of 18th European conference on fracture and damage of advanced fiber-reinforced cement-based materials, 99–111.
- [41] 30] Kim J-J, Kim D-J, Kang S-T, Lee J-H. (2012). Influence of Sand to Coarse Aggregate Ratio on the Interfacial Bond Strength of Steel Fibers in Concrete for Nuclear Power Plant. Nuclear Engineering Description: 252:1–10.
- [42] Naaman AE, Namur GG, Alwan JM, Najm HS. (1991). Fiber Pullout and Bond Slip II: Experimental Validation. Journal of Structural Engineering. 117(9):2791–800.
- [43] Wille K, Naaman AE. (2012). Pullout Behavior of High-Strength Steel Fiber Embedded in Ultra-High-Performance Concrete. ACI Material Journal, 109(4):479–87.
- [44] 33] Katzer Jacek, Domski Jacek.

(2012). Quality and Mechanical Properties of Engineered Steel Fibers Used as Reinforcement for Concrete. Construction Building Material. 34: 243–258.

- [45] [34] D-Y. Yoo, J-H. Lee, Y-S. Yoon.
 (2013). Effect of Fiber Content on Mechanical and Fracture Properties of Ultra-High Performance Fiber Reinforced Cementitious Composites. Composite Structures, 106: 742–753
- [46] Y-S. Tai, S. El-Tawil, T-H. Chung.
 (2016). Performance of Deformed Steel Fibers Embedded in Ultra-High Performance Concrete Subjected to Various Pullout Rates. Cement and Concrete Research. 89: 1–13
- [47] M. Xu, B. Hallinan, K. Wille. (2016). Effect of loading rates on pullout behavior of high strength steel fibers embedded in ultra-high performance concrete, Cement and Concrete Composite, 70, 98–109.
- [48] D-Y. Yoo, J.-J. Park, Sung-Wook Kim.
 (2017). Fiber Pullout Behavior of HPFRCC: Effects of Matrix Strength and Fiber Type. Composite Structures 174 (2017) 263–27
- [49] M. Roy, C. Hollmann, K. Wille. (2017).
 Influence of Volume Fraction and Orientation of Fiber on the Pullout Behavior of Reinforcement Bar Embedded In Ultra-High Performance Concrete. Construction and Building Materials, 146: 582–593
- [50] Y.Y.Y Cao, Q.L. Yu. (2018). Effect of Inclination Angle on Hooked End Steel Fiber Pullout Behavior in Ultra-High Performance Concrete. Composite Structures, 201: 151–160
- [51] [40] Chun B, Yoo D-Y. (2018). Hybrid Effect of Macro and Micro Steel Fibers on the Pullout and Tensile Behaviors of Ultra-High-Performance Concrete.

Composites Part B (2018), doi: https://doi.org/10.1016/j.composites b.2018.11.026.

- [52] J. Qi, Z. Wu, Z. J. Ma, J. Wang. (2018). Pullout Behavior of Straight and Hooked-End Steel Fibers in UHPC Matrix with Various Embedded Angles. Construction and Building Materials, 191: 764–774
- [53] J-J. Kim, D.-Y Yoo. (2019). Effects of Fiber Shape and Distance on the Pullout Behavior of Steel Fibers Embedded in Ultra-High-Performance Concrete. Cement and Concrete Composites. 103: 213–223
- [54] D-Y. Yoo, S. Kim, J-J. Kim, B. Chun.
 (2019). an Experimental Study on Pullout and Tensile Behavior of Ultra-High Performance Concrete Reinforced with Various Steel Fibers. Construction and Building Materials.
 206: 46-61
- [55] D-Y. Yoo, S. Kim. (2019). Comparative Pullout Behavior of Half-Hooked and Commercial Steel Fibers Embedded in UHPC under Static and Impact Load. Cement and Concrete Composites. 97: 89–106
- [56] H. Zhang, T. Ji, X. Lin. (2019). Pullout Behavior of Steel fibers with Different Shapes from Ultra-High Performance Concrete (UHPC) Prepared with

Granite Powder under Different Curing Conditions. Construction and Building Materials 211 (2019) 688– 702

- [57] Doo-Yeol Yoo, Hong-Joon Choi, Soonho Kim. Bond-slip response of novel half-hooked steel fibers in ultrahigh-performance concrete. Construction and Building Materials, 224, 743-761
- [58] I. Markovic. (2006). High-Performance Hybrid-Fiber Concrete: Development and Utilization Ph.D. Thesis, Technische Universität Delft.
- [59] Zhang J, Li VC. (2001). Influences of Fibers on Drying Shrinkage of Fiber-Reinforced Cementitious Composite. Journal of Engineering Mechanics, 127(1):37-44
- [60] S. Abdallah, MZ. Fan, XM. Zhou. (2017). Pullout Behavior of Hooked-End Steel Fibers Embedded in Ultra-High Performance Mortar with Various W/B Ratios. International Journal of Construction Structural Material, 11(2):301–13.
- [61] Y-S. Tai, S. El-Tawil. (2017). High Loading-Rate Pullout Behavior of Inclined Deformed Steel Fibers Embedded in Ultra-High Performance Concrete. Construction and Building Materials, 148: 204–218

Ref.	ID					Steel Fibe	ers						f_c'	Test configuration	V		Key parameters	$ au_{av}$
		Туре	L_f (mm)	d_f (mm)	AR (mm)	L _{eh} (mm)	P	θ_h	V _f %	S (mm)	θ°	L _e (mm)	(MPa)		(mm/s)			(MPa)
[45]	S30 (1%)	S-fibers	30	0.3	100				1	2.7	0	10	190.2	Multiple fibers	0.018	•	Types of steel fibers	6.19
	S30 (2%)	-	30	0.3	100				2	1.9	0	10	190.2	Multiple fibers	0.018	•	Fiber volume	6.91
	S30 (7%)	-	30	0.3	100				7	1	0	10	190.2	Multiple fibers	0.018		fractions V_f	6.81
	S30 (bundle)	-	30	0.3	100				-	0	0	10	190.2	Multiple fibers	0.018	•	Distance between fibers	6.70
	S30 (single)		30	0.3	100				-	-	0	10	190.2	Single Fiber	0.018	•	Fiber bundling	8.82
	H30 (1%)	H-fibers	30	0.375	80				1	3.3	0	10	190.2	Multiple fibers	0.018			19.67
	H30 (2%)		30	0.375	80				2	2.3	0	10	190.2	Multiple fibers	0.018			20.30
	H30 (7%)	-	30	0.375	80				7	1.2	0	10	190.2	Multiple fibers	0.018			22.95
	H30 (bundle)	-	30	0.375	80				-	0	0	10	190.2	Multiple fibers	0.018	-		18.76
	H30 (single)	-	30	0.375	80				-	-	0	10	190.2	Single Fiber	0.018			27.18
	T30 (1%)	T-fibers	30	0.3	100				1	2.7	0	5	190.2	Multiple fibers	0.018			26.23
	T30 (2%)		30	0.3	100				2	1.9	0	5	190.2	Multiple fibers	0.018			26.21
	T30 (7%)		30	0.3	100				7	1	0	5	190.2	Multiple fibers	0.018			28.08
	T30 (bundle)	-	30	0.3	100				-	0	0	5	190.2	Multiple fibers	0.018			24.43
	T30 (single)		30	0.3	100				-	-	0	5	190.2	Single Fiber	0.018			38.32
[46]	BCH10	H-fibers	30	0.375	80	3.5	-	-	-	-	0	10	156	Single Fiber	5	•	Loading rate	16.14
			30	0.375	80	3.5	-	-	-	-	0		156	Single Fiber	50	•	Embedded length	17.75
			30	0.375	80	3.5	-	-	-	-	0		156	Single Fiber	500			19.46

Table 1: Research Database for this study

			30	0.375	80	3.5	-	-	-	-	0		156	Single Fiber	1000			19.95
	BCH10		30	0.375	80	3.5	-	-	-	-	0	15	156	Single Fiber	5			13.82
			30	0.375	80	3.5	-	-	-	-	0		156	Single Fiber	50			14.17
			30	0.375	80	3.5	-	-	-	-	0		156	Single Fiber	500		-	15.50
			30	0.375	80	3.5	-	-	-	-	0		156	Single Fiber	1000		-	16.82
[49]	S-fiber	S-fiber	13	0.2	65	-	-	-	-	-	0	10	128.1	Single Fiber	0.018	•	Types of steel fibers	5.95
			13	0.2	65	-	-	-	-	-	30	10	128.1	Single Fiber	0.018	•	Inclination angles	6.91
			13	0.2	65	-	-	-	-	-	45	10	128.1	Single Fiber	0.018		-	6.57
			13	0.2	65	-	-	-	-	-	60	10	128.1	Single Fiber	0.018		-	5.92
	T-fiber	T-fiber	30	0.3	100	-	-	-	-	-	0	5	128.1	Single Fiber	0.018		-	18.65
			30	0.3	100	-	-	-	-	-	30	5	128.1	Single Fiber	0.018			19.02
			30	0.3	100	-	-	-	-	-	45	5	128.1	Single Fiber	0.018		-	18.14
			30	0.3	100	-	-	-	-	-	60	5	128.1	Single Fiber	0.018			17.16
	H-fiber	H-fiber	30	0.375	80	-	-	-	-	-	0	10	128.1	Single Fiber	0.018		-	23.48
			30	0.375	80	-	-	-	-	-	30	10	128.1	Single Fiber	0.018			24.42
			30	0.375	80	-	-	-	-	-	45	10	128.1	Single Fiber	0.018			24.31
			30	0.375	80	-	-	-	-	-	60	10	128.1	Single Fiber	0.018		-	21.39
	HH-fiber	HH-fiber	25	0.375	66.7	-	-	-	-	-	0	10	128.1	Single Fiber	0.018		-	15.58
			25	0.375	66.7	-	-	-	-	-	30	10	128.1	Single Fiber	0.018		-	20.77
			25	0.375	66.7	-	-	-	-	-	45	10	128.1	Single Fiber	0.018			21.01
			25	0.375	66.7	-	-	-	-	-	60	10	128.1	Single Fiber	0.018			16.50
[50]	S-0	S-fibers	13	0.2	65	-	-	-	-	-	0	6.5	151.5	Single Fiber	0.017	•	Fiber embedded	11.7
	S-30		13	0.2	65	-	-	-	-	-	30	6.5	151.5	Single Fiber	0.017		angle,	17.1
	S-45		13	0.2	65	-	-	-	-	-	45	6.5	151.5	Single Fiber	0.017	•	Fiber type,	20.6
	EH-I-0	H-fibers-I	13	0.2	65	1.5	-	-	-	-	0	6.5	151.5	Single Fiber	0.017	•	Fibber geometry	12.2
	EH-I-30	1	13	0.2	65	1.5	-	-	-	-	30	6.5	151.5	Single Fiber	0.017			15.0

	EH-I-45		13	0.2	65	1.5	-	-	-	-	45	6.5	151.5	Single Fiber	0.017			16.8
	EH-II-0	H-fibers-	25	0.35	71.4	5	-	-	-	-	0	12.5	151.5	Single Fiber	0.017			9.2
	EH-II-30	11	25	0.35	71.4	5	-	-	-	-	30	12.5	151.5	Single Fiber	0.017			10.8
	EH-II-45	-	25	0.35	71.4	5	-	-	-	-	45	12.5	151.5	Single Fiber	0.017			10.1
[51]	M1-SA	S-fibers	25	0.2	125	-	-	-	-	-	0	6.0	184.9	Single Fiber	0.018	•	Types of high-	5.2
			25	0.2	125	-	-	-	-	-	0	6.0	184.9	Single Fiber	1.8		strength steel fiber	5.7
			25	0.2	125	-	-	-	-	-	0	6.0	184.9	Single Fiber	18	•	Varying amounts of	6.5
			25	0.2	125	-	-	-	-	-	0	6.0	184.9	Single Fiber	180		glass powder	9
			25	0.2	125	-	-	-	-	-	0	6.0	184.9	Single Fiber	1800	•	Loading rates	10.9
	M1-SB		25	0.4	62.5	-	-	-	-	-	0	6.0	184.9	Single Fiber	0.018			18.7
			25	0.4	62.5	-	-	-	-	-	0	6.0	184.9	Single Fiber	1.8			20.0
			25	0.4	62.5	-	-	-	-	-	0	6.0	184.9	Single Fiber	18			21.1
			25	0.4	62.5	-	-	-	-	-	0	6.0	184.9	Single Fiber	180			22.5
			25	0.4	62.5	-	-	-	-	-	0	6.0	184.9	Single Fiber	1800			27.4
	M2-SB	-	25	0.4	62.5	-	-	-	-	-	0	6.0	171.2	Single Fiber	0.018			14.5
			25	0.4	62.5	-	-	-	-	-	0	6.0	171.2	Single Fiber	1.8			14.4
			25	0.4	62.5	-	-	-	-	-	0	6.0	171.2	Single Fiber	18			14.7
			25	0.4	62.5	-	-	-	-	-	0	6.0	171.2	Single Fiber	180			17.0
			25	0.4	62.5	-	-	-	-	-	0	6.0	171.2	Single Fiber	1800			17.2
	M1-H	H-fibers	30	0.38	79	-	-	-	-	-	0	6.0	184.9	Single Fiber	0.018			23.0
			30	0.38	79	-	-	-	-	-	0	6.0	184.9	Single Fiber	1.8			25.8
			30	0.38	79	-	-	-	-	-	0	6.0	184.9	Single Fiber	18			27.8
			30	0.38	79	-	-	-	-	-	0	6.0	184.9	Single Fiber	180			30.3
			30	0.38	79	-	-	-	-	-	0	6.0	184.9	Single Fiber	1800			35.7
	M1-TA	T-fibers	25.4	0.5	50	-	8	-	-	-	0	6.0	184.9	Single Fiber	0.018			21.7
			25.4	0.5	50	-	8	-	-	-	0	6.0	184.9	Single Fiber	1.8			28.1

		25.4	0.5	50	-	8	-	-	-	0	6.0	184.9	Single Fiber	18			28.3
		25.4	0.5	50	-	8	-	-	-	0	6.0	184.9	Single Fiber	180			33.3
		25.4	0.5	50	-	8	-	-	-	0	6.0	184.9	Single Fiber	1800			43.9
S20	S-fibers	0.20	13	65						0	6.5	194	Single Fiber	0.025	•	Loading rates	9.5
		0.20	13	65							6.5	194	Single Fiber	0.25	•	Type if fibers	10.6
		0.20	13	65							6.5	194	Single Fiber	2.5	•	Inclination angle	10.5
		0.20	13	65							6.5	194	Single Fiber	25			11.3
SH38	H-fibers	0.38	30	79	4					0	6.5	194	Single Fiber	0.025			17.7
		0.38	30	79	4						6.5	194	Single Fiber	0.25			18.5
		0.38	30	79	4						6.5	194	Single Fiber	2.5			18.9
		0.38	30	79	4						6.5	194	Single Fiber	25			17.8
		0.38	30	79	4					20	6.5	194	Single Fiber	0.025			17.4
		0.38	30	79	4						6.5	194	Single Fiber	25			21.4
		0.38	30	79	4					40	6.5	194	Single Fiber	0.025			19.4
		0.38	30	79	4						6.5	194	Single Fiber	25			20.6
HH38	HH-fibers	0.38	30	79	4					0	6.5	194	Single Fiber	0.025			27.4
		0.38	30	79	4						6.5	194	Single Fiber	0.25			30.7
		0.38	30	79	4						6.5	194	Single Fiber	2.5			32.3
		0.38	30	79	4						6.5	194	Single Fiber	25			35.1
T30	T-fibers	30	0.3	100		8				0	6.5	194	Single Fiber	0.025			27.8
		30	0.3	100		8					6.5	194	Single Fiber	0.25			29.7
		30	0.3	100		8					6.5	194	Single Fiber	25			31.8
S13-MA	S-fibers	13	0.2	65						0	6.5	112.2	Single Fiber	0.4	•	Type of fibers	7.69
S19.5MA		19.5	0.2	97.5						0	9.75	112.2	Single Fiber	0.4	•	Matrix strengths	7.21
S30MA		30	0.3	100						0	15	112.2	Single Fiber	0.4]		6.16
S13-MB		13	0.2	65						0	6.5	152.5	Single Fiber	0.4			8.36
	S20 SH38 HH38 T30 S13-MA S19.5MA S30MA S13-MB	S20S-fibersS13-MAS-fibersS13-MAS-fibersS13-MB	25.4 25.4 25.4 25.4 25.4 25.4 25.4 25.4 25.4 25.4 25.4 25.4 0.20 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.38 0.30 30 </td <td>25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.38 30 0.38 30 0.38 30 0.38 30 0.38 30 0.38 30 <t< td=""><td>25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.38 30 79 0.38 30 79 0.38 30 79 0.38 30 79 <</td><td>25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38</td><td>25.4 0.5 50 - 8 25.4 0.5 50 - 8 25.4 0.5 50 - 8 25.4 0.5 50 - 8 S20 S-fibers 0.20 13 65 - 1 0.20 13 65 - 1</td></t<><td>25.4 0.5 50 8 25.4 0.5 50 8 50 25.4 0.5 50 8 520 S-fibers 0.20 13 65 0.20 13 65 $SH38$ H-fibers 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38 30 79<</td><td>25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 520 S-fibers 0.20 13 65 - L L L 0.20 13 65 - L L L L 0.20 13 65 - L L L L 0.20 13 65 - L L L 0.20 13 30 79 4 L L L 0.38 30</td><td>1000000000000000000000000000000000000</td><td>1000000000000000000000000000000000000</td><td>25.40.550806.025.40.550806.025.40.550806.025.40.550806.0520S-fibers0.201365III06.50.201365IIIII06.50.201365IIIII06.50.201365IIIIIII16.50.201365II</td><td>1000000000000000000000000000000000000</td><td>Problem 254 0.5 50 \cdot 8 \cdot \cdot 0 6.0 184.9 Single Fiber 254 0.5 50 8 0 6.0 184.9 Single Fiber 254 0.5 50 8 0 6.0 184.9 Single Fiber 520 7.5 50 8 0 6.5 194 Single Fiber 0.20 13 65 0 0 6.5 194 Single Fiber 0.20 13 65 0 0 6.5 194 Single Fiber 0.38 30 79 4 0 0 0 6.5 194 Single Fiber 0.38 30 79 4 0 0 0 6.5 194 Single Fiber</td><td>Problem 25.4 0.5 50 - 8 - - - 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 100 520 2.5 13 65 - 2 - 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 2 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 2 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 1 0 0 6.5 194 Single Fiber 0.25 5134 Maisingle Fiber 0.25 0.38 30 79</td><td>1 2 1 0 1 0 6 1 8 1 1 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 0.0 184.9 Single Fiber 180 25.4 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 0.38 30 79 4 0 0 6.5 194 Single Fiber 0.25 0.38 30 79 4 0 0 0 6.5</td><td>Ref 254 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 S20 S-fiber 0.20 13 65 - 0 6.0 184.9 Single Fiber 0.25 Lading rates 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 1.6 0.38 30 79 4 0 0 6.5 194 Single Fiber 0.25 1.6 1.6 1.4 Single Fiber 0.25 1.6 1.4<</td></td>	25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 25.4 0.5 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.20 13 0.38 30 0.38 30 0.38 30 0.38 30 0.38 30 0.38 30 <t< td=""><td>25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.38 30 79 0.38 30 79 0.38 30 79 0.38 30 79 <</td><td>25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38</td><td>25.4 0.5 50 - 8 25.4 0.5 50 - 8 25.4 0.5 50 - 8 25.4 0.5 50 - 8 S20 S-fibers 0.20 13 65 - 1 0.20 13 65 - 1</td></t<> <td>25.4 0.5 50 8 25.4 0.5 50 8 50 25.4 0.5 50 8 520 S-fibers 0.20 13 65 0.20 13 65 $SH38$ H-fibers 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38 30 79<</td> <td>25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 520 S-fibers 0.20 13 65 - L L L 0.20 13 65 - L L L L 0.20 13 65 - L L L L 0.20 13 65 - L L L 0.20 13 30 79 4 L L L 0.38 30</td> <td>1000000000000000000000000000000000000</td> <td>1000000000000000000000000000000000000</td> <td>25.40.550806.025.40.550806.025.40.550806.025.40.550806.0520S-fibers0.201365III06.50.201365IIIII06.50.201365IIIII06.50.201365IIIIIII16.50.201365II</td> <td>1000000000000000000000000000000000000</td> <td>Problem 254 0.5 50 \cdot 8 \cdot \cdot 0 6.0 184.9 Single Fiber 254 0.5 50 8 0 6.0 184.9 Single Fiber 254 0.5 50 8 0 6.0 184.9 Single Fiber 520 7.5 50 8 0 6.5 194 Single Fiber 0.20 13 65 0 0 6.5 194 Single Fiber 0.20 13 65 0 0 6.5 194 Single Fiber 0.38 30 79 4 0 0 0 6.5 194 Single Fiber 0.38 30 79 4 0 0 0 6.5 194 Single Fiber</td> <td>Problem 25.4 0.5 50 - 8 - - - 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 100 520 2.5 13 65 - 2 - 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 2 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 2 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 1 0 0 6.5 194 Single Fiber 0.25 5134 Maisingle Fiber 0.25 0.38 30 79</td> <td>1 2 1 0 1 0 6 1 8 1 1 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 0.0 184.9 Single Fiber 180 25.4 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 0.38 30 79 4 0 0 6.5 194 Single Fiber 0.25 0.38 30 79 4 0 0 0 6.5</td> <td>Ref 254 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 S20 S-fiber 0.20 13 65 - 0 6.0 184.9 Single Fiber 0.25 Lading rates 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 1.6 0.38 30 79 4 0 0 6.5 194 Single Fiber 0.25 1.6 1.6 1.4 Single Fiber 0.25 1.6 1.4<</td>	25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 25.4 0.5 50 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.20 13 65 0.38 30 79 0.38 30 79 0.38 30 79 0.38 30 79 <	25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 25.4 0.5 50 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.20 13 65 - 0.38 30 79 4 0.38 30 79 4 0.38 30 79 4 0.38	25.4 0.5 50 - 8 25.4 0.5 50 - 8 25.4 0.5 50 - 8 25.4 0.5 50 - 8 S20 S-fibers 0.20 13 65 - 1 0.20 13 65 - 1	25.4 0.5 50 $ 8$ $ 25.4$ 0.5 50 $ 8$ $ 25.4$ 0.5 50 $ 8$ $ 25.4$ 0.5 50 $ 8$ $ 25.4$ 0.5 50 $ 8$ $ 50$ 25.4 0.5 50 $ 8$ $ 520$ S -fibers 0.20 13 65 $ 0.20$ 13 65 $ SH38$ H-fibers 0.38 30 79 4 $ 0.38$ 30 79 4 $ 0.38$ 30 79 4 $ 0.38$ 30 79 4 $ 0.38$ 30 79 <	25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 25.4 0.5 50 - 8 - - 520 S-fibers 0.20 13 65 - L L L 0.20 13 65 - L L L L 0.20 13 65 - L L L L 0.20 13 65 - L L L 0.20 13 30 79 4 L L L 0.38 30	1000000000000000000000000000000000000	1000000000000000000000000000000000000	25.40.550806.025.40.550806.025.40.550806.025.40.550806.0520S-fibers0.201365III06.50.201365IIIII06.50.201365IIIII06.50.201365IIIIIII16.50.201365II	1000000000000000000000000000000000000	Problem 254 0.5 50 \cdot 8 \cdot \cdot 0 6.0 184.9 Single Fiber 254 0.5 50 $ 8$ $ 0$ 6.0 184.9 Single Fiber 254 0.5 50 $ 8$ $ 0$ 6.0 184.9 Single Fiber 520 7.5 50 $ 8$ $ 0$ 6.5 194 Single Fiber 0.20 13 65 $ 0$ 0 6.5 194 Single Fiber 0.20 13 65 $ 0$ 0 6.5 194 Single Fiber 0.38 30 79 4 0 0 0 6.5 194 Single Fiber 0.38 30 79 4 0 0 0 6.5 194 Single Fiber	Problem 25.4 0.5 50 - 8 - - - 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 100 520 2.5 13 65 - 2 - 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 2 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 2 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 1 0 0 6.5 194 Single Fiber 0.25 5134 Maisingle Fiber 0.25 0.38 30 79	1 2 1 0 1 0 6 1 8 1 1 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 25.4 0.5 50 - 8 - - 0 0.0 184.9 Single Fiber 180 25.4 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 0.38 30 79 4 0 0 6.5 194 Single Fiber 0.25 0.38 30 79 4 0 0 0 6.5	Ref 254 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 18 25.4 0.5 50 - 8 - - 0 6.0 184.9 Single Fiber 180 S20 S-fiber 0.20 13 65 - 0 6.0 184.9 Single Fiber 0.25 Lading rates 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 0.20 13 65 - 0 0 6.5 194 Single Fiber 0.25 Topic if fibers 1.6 0.38 30 79 4 0 0 6.5 194 Single Fiber 0.25 1.6 1.6 1.4 Single Fiber 0.25 1.6 1.4<

	S19.5MB		19.5	0.2	97.5			0	9.75	152.5	Single Fiber	0.4			7.43
	S30MB		30	0.3	100			0	15	152.5	Single Fiber	0.4			6.16
	S13-MC		13	0.2	65			0	6.5	190.2	Single Fiber	0.4			9.17
	S19.5MC		19.5	0.2	97.5			0	9.75	190.2	Single Fiber	0.4			8.29
	S30MC		30	0.3	100			0	15	190.2	Single Fiber	0.4			6.46
	H30MA	H-fibers	30	0.375	80			0	15	112.2	Single Fiber	0.4			11.36
	H30MB	_	30	0.375	80			0	15	152.5	Single Fiber	0.4			12.10
	H30MC		30	0.375	80			0	15	190.2	Single Fiber	0.4			7.29
[55]		S-fibers	30	0.2	65			0	10	150	Single Fiber	0.018	•	Type of steel fibers	5.95
			30	0.2	65				10	150	Single Fiber	315.9	•	Loading rates	12.00
			30	0.2	65				10	150	Single Fiber	511.1	•	Inclination angle	17.02
			30	0.2	65			30	10	150	Single Fiber	0.018			6.91
			30	0.2	65				10	150	Single Fiber	454.7			14.98
			30	0.2	65				10	150	Single Fiber	514.6			19.34
			30	0.2	65			45	10	150	Single Fiber	0.018			6.57
			30	0.2	65				10	150	Single Fiber	534.6			14.33
			30	0.2	65				10	150	Single Fiber	660.8			15.82
			30	0.2	65			60	10	150	Single Fiber	0.018			5.92
			30	0.2	65				10	150	Single Fiber	779.2			12.80
			30	0.2	65				10	150	Single Fiber	1022.			15.54
												7			
		H-fibers	30	0.375	80			0	10	150	Single Fiber	0.018			23.48
			30	0.375	80				10	150	Single Fiber	425.7			35.11
			30	0.375	80				10	150	Single Fiber	927.1			35.02
			30	0.375	80			30	10	150	Single Fiber	0.018			24.42
			30	0.375	80				10	150	Single Fiber	428.8			29.57
			30	0.375	80				10	150	Single Fiber	941.9			35.31

		30	0.375	80			45	10	150	Single Fiber	0.018	24.31
	-	30	0.375	80				10	150	Single Fiber	538.3	22.39
	-	30	0.375	80				10	150	Single Fiber	1131.4	28.91
		30	0.375	80			60	10	150	Single Fiber	0.018	21.39
	-	30	0.375	80				10	150	Single Fiber	595.8	22.94
		30	0.375	80				10	150	Single Fiber	1221.	23.99
											5	
,	T-fibers	30	0.3	100			0		150	Single Fiber	0.018	19.85
		30	0.3	100				5	150	Single Fiber	315.5	39.74
		30	0.3	100				5	150	Single Fiber	936.7	47.72
		30	0.3	100			30	5	150	Single Fiber	0.018	19.02
		30	0.3	100				5	150	Single Fiber	377.9	34.30
		30	0.3	100				5	150	Single Fiber	995.8	40.96
		30	0.3	100			45	5	150	Single Fiber	0.018	19.00
		30	0.3	100				5	150	Single Fiber	398.1	30.19
	-	30	0.3	100				5	150	Single Fiber	985.9	42.49
		30	0.3	100			60	5	150	Single Fiber	0.018	17.16
	-	30	0.3	100				5	150	Single Fiber	592.6	26.14
	-	30	0.3	100				5	150	Single Fiber	1159.0	33.65
Н	IH-fibers	25	0.375	66.7			0	10	150	Single Fiber	0.018	12.51
	-	25	0.375	66.7				10	150	Single Fiber	380.1	24.87
		25	0.375	66.7				10	150	Single Fiber	907.7	32.49
	-	25	0.375	66.7			30	10	150	Single Fiber	0.018	15.06
	F	25	0.375	66.7				10	150	Single Fiber	453.9	24.68
	F	25	0.375	66.7				10	150	Single Fiber	802.0	34.62
	F	25	0.375	66.7			45	10	150	Single Fiber	0.018	18.26
	F	25	0.375	66.7				10	150	Single Fiber	519.7	23.00

Shagea Alqawzai, Bo Yang, Belal Alsubari, Hayder Saadoon Abdulaali, M. Elchalakani4, Ahmed Al-Nini / Tikrit Journal of Engineering Sciences (2022) 29 (1): 60-82

	25	0.375	66.7				10	150	Single Fiber	831.7	26.52
	25	0.375	66.7			60	10	150	Single Fiber	0.018	15.59
	25	0.375	66.7				10	150	Single Fiber	660.0	21.80
	25	0.375	66.7				10	150	Single Fiber	1718. 0	24.51

Where, L_f is the length of steel fibers, d_f is the diameter of steel fibers L_{eh} is the length of end hook, P is the pitch of twisted fibers, θ_h is the angle of hook-end, V_f is the steel fibers volume fractions, S is the spacing/distance between fibers, θ is the embedded angle of steel fibers, L_e is the embedded length of steel fibers, f'_c is the compressive strength of UHPC, V is the loading rate, and τ_{av} is the average bond strength.